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OEOAQPATOZX ATAGAITENTANA
Dx|Ox| 1] 12 1 15,001 7 |800| O 0 0 30 0 0 ]300,00f 49 |Oxi| 1|Oxi| 1.179,00f 1
KAPABIPAKHZ FrEQPrioz |EMM
Dx|Ox| 1] 12 16,60 800| O 0 0 0 0 0 1332,00f O |Oxi| 1|Oxi| 1.132,00f 2
NTOMIPOBITZ |EMMANOYHAHMI
DxOx| 1] 8 12,44| 16 |500| O 0 0 0 0 0 |248,80| 112 |10Ox1] 1 |Oxi| 860,80 3
KABOYPAZ NIKOAAOZ |MANA
DxOx| 1] 8 16,25 500 O 0 0 0 0 0 1325,00f O |Oxi| 1|Oxi] 825,001 4
KATZANHZ FEQPIrIO%Z |AHMI
DxOx1 1 17,36 010 0 0 0 0 0 |1347,20f O |Oxi| 1|Oxi| 347,201 5
KAIrKAPAX EMMANOYHEYZT]
DxOx1 1 13,00 010 0 0 0 0 0 260,000 O |Oxi| 1|Oxi] 260,00 6
>TAMOYAHZ 2MYPIAQN |[FEQH
DxOx1 1 10,000 6| O | O 0 0 0 0 0 200,001 42 |Oxi] 1 |Oxi|f 242,001 7
AZETI : Mivakag katdtagng utroywn@iwv opiouévou Xpovou 1 amé 1



